AIRMEN CAPF CDS EXAM
(2) (1) (2)

ACC AFCAT
(1) (1)

ExXAbAS
INET OFFICER MNS MOCK TEST NDA EXAM PC(sSL) SCO SSB INTERVIEW
(1) 1) 131 (1} 1) (1) (1)

HIGHEST RATED l -

E17 PEOPLE @NLINE NOW

CDS Exam Online
Course 2021 - 2022
5(80)

¥4,999.00

90 PEOPLE @NLINE NOW

OIR Test and PPDT
Online Course - Officers
Intelligence Rating Test
5(50)
¥2,999.00

BEST SELLER

997 PEOPLE @NLINE NOW

CDS OTA Exam Online
Course 2021 - 2022

5(77)
24,499.00

HEST SELLER

98 PEOPLE @NLINE NOW

MNS Military Nursing

Service Exam Online

Course 2022

- T 14 5(44)
24,999.00

BEST SELLER

sty

206 PEOPLE @NLINE NOW

AFCAT Exam Online
Course 2022
5 (64)
74,999.00

AFCAT EXAM &
MOCK TEST
SERIES

37 PEOPLE @NLINE NOW

AFCAT Exam Online
Mock Test Series
5(65)
¥299.00

561 PEDOPLE @NLINE NOW

NDA Exam Online
Course 2021 - 2022

5(72)
¥4,999.00

BEST SELLER

CDS EXAM
MOCK TEST
SERIES

CDS Exam Online Mock
Test Series

¥299.00

GETITON

740 FEOPLE @NLINE NOW

Territorial Army Exam
Online Course 2021 -
2022
5(53)
¥ 4,999.00

BEST SELLER

NDA EXAM -
MOCK TEST
SERIES

18 PEOPLE @NLINE NOW

NDA Exam Online Mock
Test Series
5(72

2299.00

TERRITORIAL ARMY
(1)

895 PEOPLE @NLINE NOW

ACC Exam Online Course
Army Cadet College
2021-2022

5(53)

¥6,999.00

37 PEOPLE @NLINE NOW

UPSC CAPF Assistant
Commandant Online
Course 2022
5(48)
¥4,999.00
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":”M',RE"ENS")N se, you will find
D; ; cqpes. After each passage, .y U fom,,
rections : 1y 1his section you have three short passages. £ based on il

N i . - the (:[{,")/.‘v'
based on t he passage. Read the passage carefully and answer ! h

1 China’s objective of si:igning i secury,
Passage — I h with Solomon Islands i ey
China’s government announced on April 19 (a) to contribute in ensuring security in g
. . 4 3 ‘”
that it had Signed a landmark security pact with " Pacific.
the Solomon Islands, evoking concern from (b) to extend its territory.
Australia and the US, The agreement is the first of (¢) to develop Solomon Islands.
ltsdkmd thjsxt C?nna ha-s. agreed wif?h any country, () to provide financial aid in enh:’mw
jsln under'hnes its ambitions to play a security role security measures in the Pacific, s
in the Pacific. The final version has not been made
public. It will pave the way for China to deploy its ’
security forces there. The Solomon Islands can | 2. The Pact symbolises China’s doctrine of
req.uest.. l?olice a'nd military per§onnel “to assist in (a) advancing financial Bapport (]
maintaining Social “order”, while China can make countries.
ship visits and use its ports for logistics. This will (b)  deployment of security forces wherey,
give China’s vessels a strategic foothold in the needed.
Pacifie, in a regn_mplose to Australia and Guam, (¢)  advancement of defence technology.
where the US has val bas i i
e a naval base. Both countries ' ((}) principles of peaceful coexistence.
unsurprisingly expressed concern, with '

Washington, even dispatching a senior official to
the Solomon Islands, who will take up the pact as
well as plans to reopen the US Embassy there.

3.  Which one of the following is implied by
‘Beijing would not seek to become a global

. : hegemon’ ?

The significance of the pact extends beyond .the (a)  Beijing would aspire to become a strong
Immediate regional security concerns in the Pacific. Pulin
The  Solomon Isla:nds gov.ernm?nt S sl (b)  Beijing is ambitious of becoming a
agreement does not imply China will build a base Superpower
there. The pact does, however, relate to a second - . cting 6o, b e
key pillar of China’s avowed “peaceful rise” 9) el-]l:}? ia n;)d aspiring to have contro
doctrine, which was, as popularised by “Panchsheel” ov?‘r' . vsior ' . .
or the “five principles of peaceful coexistence” — the (d)  Beijing will play _an 1mportant role in

“non-interference” in the internal affairs of other world politics.

countries. The deployment of security forces in a

el i ‘ are with that . .
forelgn c-o e certau:ily l:i oes ,n(:) Z%l‘lé; éigé;Hére 4, What does ‘square with that idea’ imply in the
idea. China has already begun padsage? .

albeit on a limited scale. China’s past commitments . o
on military bases “and non-interference were (a) Having multiple ideas

intended to show the world Beijing would not seek (b)  Not in agreement with the idea

to become a global “hegemon”, its favoured term to (¢)  Imposing personal views on others

describe the US. - ' - (d)  Agreeing with the multiple views
¢

FDGT-F-ENG (2-A)




Wha( does ‘Ei!’&i{ég‘;f foothold’ Vﬂpéu in

paESagg ?

@' Valig entrv

(h) Planned access

€ Legitimate passage
(ds

Sanctioned routes

Passage - 11

Am@ng the major objectives of the Glasgow |
to frame the foundation of an |

Summit wWas

internationa] carbon trading system listed in the |

Palji-% Agreement to achieve the target of net zero
€missions by 2050
transfer credits to each other and offset their
emission targets. Critics of the trading system, and
there are many, say it would give leeway to
developed countries and companies that are highly
polluting to stave off making deeper cuts in their
low emissions|| by buying credits from poorer
countries at exploitative prices. There are also
major differences over whether the new trading
system will recognize historical emissions permitted
under earlier protocols. Others want rules that
permit double credits for the nation funding a
particular carbon reducing project, such as the
regeneration of forests to act as a carbon sink, and
for the country implementing it. A third issue is
whether a share of the revenue from such a
bilateral trading agreement will go toward the UN’s
Adaptation Fund. There have also been concerns

about the integrity of the accounting system for
such credits.

6. What is ‘international carbon trading system’
here ? )
(a)

Counting carbon emissions by poor
countries

(b) A system of counting Cal'bons‘every year
@ The exchange of carbon credits between
tions ‘ ..
r(;a unting how developed countrieg
d). 0 . .7
( evade accountability .

(3-a)

FDGT-F-ENG

It would enable nations to

7 e being mentioned in
the revenue’?
‘al, The revenue may not be shared with
UN's Adaptation Fund
b/ Developed countries would take the
revenue from bilatera trading
agreements.
| 'c)  Poor countries will have to shoulder the
major responsibilities.
“w (d)  Accounting system will be in the hands
of developed countries. -
8. ‘.. forests to act as a carbon sink’ means
(a} Forests reduce carbon emission.
(b} Depletion of forest cover adds to carbon
emission.
{c) Forests cannot reduce carbon emission.
(d) Forests can improve the environment.
9.

What is the concern about the integrity of the
accounting system ?

(a)[ Developed countries and companies
would not be adhering to the credit
system.

(b)  Developed countries and companies
would be adhering to the credit system.

(¢)  Poor countries would not be adhering to

) the credit system on carbon emission.

(d)

Poor countries would be adhering to the
credit system on carbon emission.

10.  Which of the foll

. OWing words is n
"eaning of the word ‘protoeot i the a3 |
@ final truty B '
(b) SChOOl of th()u_ght
(@)

forma] v . ‘
(d) 2ys of doing Something

Meetj;
eeting the target of 1



Passage I

r[‘l" \ .
e '{}1[ oxpects 1 .

xpects 1nfl; p 5 .
2022 - 93 Re ‘ nflation at 6-7 percent 1n
<d. Recent government data also suggests

that  inflais
b inflation has  become more  broad-based

Exeluding .
1‘11:‘(11”:\?::?: :;:1;:1 -\[.“.]:,“v'h\ f'm“p”"““is such as food and

) aill inflation was around 7 percent in
April  with almost  all subgroups in the index
Witnessing elevated inflation. And considering the
mflation in the pipeline — the wholesale price index
continues to be in double digits — price pressures
are unlikely to dissipate in the immediate term.

;’\'1:")5—" . b ¢ —— & i &
ccording to analysts, while manufacturing firms

have be — . .. )
fhave been passing on the rise in input costs, it
réemains incomplete in the case of the services
However, as up, the

pass through is likely to gather traction. This

sector. demand firms
combination of factors suggests that inflation may
not fall dramatically as and when commodity prices
fall — prices may prove to be a tad sticky on the
downside. The RBI's revised quarterly forecasts for
inflation also seem to suggest so — inflation has
now been projected at 7-5 percént in the first
quarter, and 7'4 percent in the second quarter,
trending downwards thereafter to 6-2 percent in
the third quarter, and 5'8 percent in the fourth
quarter.

Implicit in these quarterly inflation forecasts
is also the acknowledgment that inflation will likely
exceed the upper threshold of the central bank’s
inflation targeting framework for three consecutive
quarters. the risks that the
“unag@aring’ of inflation and inflation expectations
Pose to macroeconomic stability, and the country’s
growth prospects, the central bank must look

beyond its quotidian responsibilities and continue to

Considering

focus on maintaining price stability, attaching
Primacy to inflation management.

FDGT-F-ENG

12.

14.

15.

{4-A)

In what context are t

(b)

(d)

(d)

volatile  compey,,

What A€ the - .
‘ i
. 9
inflation.? ‘ .
All gubgroups in the index
n) et ) ‘
- ents such as food and fue)

Compon

(b) et
(J ) Wholesale price index
c) ‘ ol
(d) [nflation in the pipeline
( ] |

ces unlikely to ahate in the

Ty

Why are pT i

term ? N
), DBecause of inflation 10 the pipelin,
(a): A )
(b) Because prices once up REVEL Come
down

(¢c) Because international price situay, !

volatile

Because of pressure from subgrouy,

(d)
he words ‘pass thrg‘_u\;ﬁJ ,

_ : -
used in the passage :
(a) That services sector will increase price;

as demand picks up ,
That manufacturing sector is bearing
the burden of input costs

() That the economy is passing through

price pressures
That inflation will pass through the
services sector

Explain the meaning of the word ‘quotidian’
as used in the passage.

(a) Existing

(b) - Primary

(¢) Main

(d/)p Day-to-day

Choose the most appropriate option that

describes the meaning of the term

‘unanchoring’ as used in the passage.

(a) Stability of inflation that will be
securely anchored

(b)  The rising anchor will free inflation

(cL The disjoint between inflation and its

expectations
Runaway inflation that is out of control
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SYNONYMS

g of a sentence with an underlined wored followe
Ded, I)y four

Directions : Each item in this section consist
and muf‘k

Jeet the option that i
dingly.

ds/group of words. 8 « nearest in meaning to the underlined yor
words /group of woras. St 4
vour response on the Answer Sheet accor

16. He is considered the harbinger.
(a) regressive messenger
(b) advance messenger
(¢) overlooking messenger

(d) ancestor

17. The vista of the villages is beautiful.
(a) landscape s
(b)  location
(¢) feature

(d) vitality

18. Her act was considered as most lamentable.
(a) appreciable, -
(b) acceptable
(¢) permissible

(d) deplorable

19. The leader’s endurance paid and he won the elections.
(a) patience |
(b) * success
(¢c) enigma
(d) captivity

20. We are planning a jaunt for a whjle during the wiﬁter.
(a) deliberation
(b) intersection
(¢) expedition

(d) association

FDGT-F-ENG (5-A)



COMPLETION OF SENTENCES

Directions . The following items have one part of a sentence followed by four alternatives. Complete the

sentence by ch

21. Itis not that 1 do not take a decision,
(@) I decide not to take a decision. ,
(®  Ido not decide a decision.
(@) Thad not taken a decision.
@) T decide I would not have taken a |
decision.
22. IfI were in your position,
(@) Thad been accepting this compensation,
(®  I'would not accept this compensatlion. ’
€} I would not have been accepting this |
compensation.
d)  should I not accept the compensation.
23. Having written many novels and short
stories,
(a) she cannot be feeling about life. + ‘
(b)  she is to feel life too big to understand./ |
(c) she should not have being feeling for
life.
id) she feels life is too vast to understand. 7 d
24. There are many career options,
a) vyou can choose any of them. »
(b}  you can choose many of them.
{c/  wou should choose none of them.
{d}  vou would choose one of them.
25. If you had prepared well,
ta}  you would have been fared well.
‘b)  you will have fared well.
(¢}  you must have to fare well.
( ;ﬁ/ you would have fared well.
DGT-F-ENG (86—

26.

27,

- 29.

A)

oosing the correct alternative and mark your response on the Answer Sheet accordingly.

Where there is a will,

(a)  there should be way.

(b)  thereisaway. -~

(c)  there would have been a way.
(d) there may have been a way.

“It is getting dark,

(a)  mustI turn on the lights ?”

(b)  should Ibe turning the lights 2"
{¢) may I be turning on the lights ?”
(d) can Iturn on the lights 77

Once I met a traveller

(a) y who said he had been to an ancient
place. :

(b) he said he had been to an ancient place,

(¢) who can be said he had been to an
ancient place. o

(d) be said an ancient place had been

Man is the greatest truth of all,

(a) nothing can be with him.

(b}  there is nothing beyond hims

(c)  there cannot be nothing to him.

(d)  there is nothing truth about him.

If your life is circumscribed by habits alons.

(a)  you were merely an imitating machice.
(b)  you are merely an imitative machine. )
(¢)  you were merely an imitative machi==
(d) you can be living in an imitative workd



ORDERING OF WORDS IN A SENTENCE

thiz section consists of a sentence, parts of

. P ~ 3 r k. falloing ifems 10 Whi
Directions : Each of the [pliowing f=em - e which p

- ¥ . »4 e 2 S F2rs0ss D 5 - LARFTT

hicd. T} . boon labelled as P. QA and S. Given below each gentence are for 1€ heey,
memibiied. 1 ficse parts a01e peen LBUEIERE T 2 ; » 7 seqy

m d. 4 - { i P — ; _ d ¢ . . 7 146 g

I ) i id). You are required {0 re-arrange the jumbled parts of the sentence tind g, hm”d'

namely (al, (b)), (c) and fal. 10U &7F TEHEE0F ST Thar
VALY ’ . ! - Yty

il s snatl
rESponse QCCoOTAINgLYy.

31.

32.

35.

used which convert light energy into electrical energy
s By

in the filaments of rubidium 1°

P Q

(a) QPSR

by QSRP
(c) SRQP
d) SQP

he urged 20 many to get m\'ol\'ed who has left his mark

P . Q ,

¢

this is the final word of an educational philosopher on a world in which

R S
(a) RSPQ '
b) SPQR
fc) QPRS

(d) RQSPz

or the opposite where you say one thing irony is a figure of speech while you mean another

o Q R S
(a) RSQP
by QSPR
(cy RQSP «
dy PSQR
across the world in the Middle East has changed the discovery of petroleum
Q R
the lifestyle of the people
S
{a) RSPQ
(b) QPRS
{(c) SRQP
{ d} RQSP P
as a source of energy the camel uses fat in the desert during its long journey
| 4 Q R - S
(a) QPSR »~
(b) QRSP
(¢} RSPQ
(d) SPRQ

FDGT-F-ENG (7-A)



36.

37.

38.

‘39,

40.

i nt v , concluding lines
must support the main part the lu-.g1|nn‘n;:t,jn?’«l 1_.11{7 concluding 77—

P 0 0
described in the story or the flf‘l‘if
R 3
(a) QSRP
(b) QPSR -~
(¢) RSQP
(d) SRQFP

verine ecosystem

is being systematically damaged our peautiful 11 Q

P
by industrial pollution W
R S
(a) RSPQ
(b) PQRS
(¢) QPRS ~
(d) SRQP
the film industry due to nearness to the viewers its ready availability and
P T Q B
the television screen is challenging
S
(a) QRPS
(b) SPRQ ~
(0 SQRP
@ RSPQ
they built an Artificial Intelligence system researchers say that
P - Q
makes ethical judgments that like humans
R | S
(a) QPSR .
(b) PSRQ )
(c) QRSP
(d) PRSQ
heisa foc;)l, it is that others think intelligently it is not that he does not think
. - Q R S
(a) PSQR , »
(b) RPSQ
(¢) QRSP
(d) SRPQ ,

FDGT-F-ENG -
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CLOZE COMPOSITION

l : » - _ nces in this sectior 2 b & Bk
Directions: Each of the following sentences 1 this section hasz a blank space with four words or gy,

Cwords Yoiu conside up of
UJOJ'dS gz’z‘ew S«?«,’ec; {l'hfff?t"i‘f-" {‘,k-O.y-(‘_{ or grmlp of wo 1’ }7021 C jn.cz(j( o fhp mosf (lf)pfopf‘!(t?é' ’(g‘r ihe }ifﬁm‘g& Space
and indicate your response on the Answer Sheet accordingly.
Banking is 41. ta) an essential building block to reach greater prosperity and help build
- ib} a
(c) the
{d) some
a bethe system 42, (a) were financial services can create a path out of poverty.
B — (b} where -
ic) “thh
(d) whose i
However, big traditional banks often exclude low-income populations 43. (a) by
i (b) to
{c) with
(d) for
requirements or by using historically discriminatory practices that keep 44.(a) this
y (b) these »
(c) where
(d) which
low-income custdmers ____45. (a) way from formal finance.
(b) for
(c) away »
(d) near
Modern lifestyles are predicated 46. (a)on debt. If you have a stable and reliable income,
(b) with -~
(c) for
(d) in
have a bank account with access to a range 47.(a) to modern financial products, you can
(b) with
(c) for
(d) of »
manage your debts efficiently. This 48. (a) has what the entire financial system is for.
(b) was ‘
(c)is *
_ (d) means
1t bt 3 - . e . 5
But de 49, E gj gecomes a lifetime’s trap if you don’t have easy access to
ecome
(c) comes for
(d) goes
50. (a) that financial products.
(b) this
(c) which
(d
d) these ,
FDGT-F-ENG
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Directiong :

' ' ' » most approp
Y omuer preposition or determiner you consider the most apf

PREPOSITIONS AN D

Each of the following sentences in this st

'O F oo
YOUT response on the Answer Sheet accordin gly.

51. Rahul must have received the dues 56.
now,
(a) by _
(b)  till
(¢) for
d to
52. How many students have come 57.
you for the programme ?
(a) along with
(b) Dby
(¢) for
(d till
53. You need to make others feel that you .are | 58.
second : none. |
(a) by
(b) to
(c) with-
(d) for -
54. Scholars are often caught on the horns of o
dilemma.
(a) the
(b) some
() a
(d) few ,
’ 60.
5. Amid ___  few incidents of violence,
the voting went on well.
(a) a '
(b) some
(e} no article »
(d an
FDGT-F-ENG

(10-A)

[ . 1 DlLan
wetion has @ bl

DETERM INERS

)i space with four options. Selec

riate for the blank space and indicqy,

university is a place for thln]dng

it
o

and learning.

- (a) An
b A 7
(¢) The
(d) Some

Education is a manifestation of
perfection already in man.

(a) a

(b) the ¢

(c) some

(d) to

Entry _  the building was restricted
due to the COVID-19 pandemic.

(a) into

(b) of

(¢) for

(d by

Ranjit has been elected as leader
of the group in the house.

(a) the ,

(b) a

() an

(d) some

System performance was demonstrated

the Drop Zone from an altitude of

5000 m.

(a) Dby
(b) at ~
{¢) in

d)  with



Directions: In this section each item consists of six sentences of o passage,
; n as S1 and S6. The middle four senlences in each have been jumbled up and labe

given as i ana b, > 1l - | N ;

You are required to find the proper sequence of the four sentences and marh your re

the Answer Sheet.

61. S1:

t@‘

ORDERING OF SENTENCES

i Y »
The first and i, sentencey
€8 ttre

G labelled as p, 91 any 8

sponae r/,f;!:m’dr,'n,gly on
2%, 1

A licensee who wants to surrender his license shall apply in Form X to the lcansing officer

. This shall not entitle the licensee to any compensation by way of license fee in S _—
. If the licensing officer is satisfied, he may accept the surrender. ¢ -
. The license shall be deemed to have been terminated from the date of such acceptance.

: The application shall be accompanied by a declaration of stock in Form V.*

S6 : The licensee who has surrendered his license shall be allowed to sell the antiquities declared to
another licensee or a recognized museum in India.
(a)  PQRS
(b) SRQP
() SQRP
(d) SQPR
62. S1: Haryana has achieved the 2% rank among States in Logistics Ease Across Different States
(LEADS) - 2021 report. '
P: This makes Haryana a top performer in the northern cluster of land-locked States. 7 =
Q : The State has taken a leap from the 6 overall position in the previous evaluation (2019). 1
R: The improvement in ranking reflects focused initiatives by the State in improv-ing the
infrastructure. 2 _
S: The report aims to evaluate and rank States / UTs based on the efficiency of their logistics and
initiatives taken.
S6 : LEADS 2021 framework evaluated States / UTs on 21 indicators, including 17 perceptions and
four objectives-based indicators. B
(a) QRPS 4
(b)  QSPR |
(c) SRQP.
(d) RQSP
FDGT-F-ENG
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63- Sl .

S6 -

(a)
(b)
(c)
(d)

64, Sl .

S6

(a)
(b)
(e)
(d)

65. S1:

Bz

5
S6:

(a)

(b)

(c)

(d)

* During ¢ ‘
"ing the last decade, power production fror

P
Q:

: One expert calls wind

Wind ,
’ DOWer ig » : 4 e ener y ‘ ,
POwer ig an inexhaustible source of clean g. J— than 25%.

n the wind incre . "

| 1 5 ' g on favourable gjteg ¢
f‘tltht.?ugh the cost of electrical energy produced by the wind d?pfmi vith power pmd‘uv? for y 5
oca?;mn of wind turbines, wind power is already cost competitiv ith oduceq iyr!m
fossil fuels.

+ Much of the growth was in Europe, where most of the world’s 17,000 megawatts of wing Powe

is generated.
generation the fastest-growing electricity-producing technology i, the

world.

As examples, 13% of Denm ark’s power and more than 20% of power in the Netherlands, Spaig
and Germany is supplied by the wind.

PQRS

SRPQ s

QSPR

RPSQ

Education, it is believed, is inseparable from our societal aspirations.

: Education, as many would argue, was for realization of the Ultimate and the Absolute.
: In ancient times, for example, there was a distinctive spiritual meaning associated with

education.

+ As these aspirations/world views undergo a process of transformation with the changing

times, so does the meaning for education.

: It was to overcome the finiteness of existence: all earthly temptations and desires.

But, for a modern / technical mind, this preoccupation with supreme spiritual knowledge may
not hold such fascination.

RPSQ

SRQP

QRPS

RQPS

He resisted colonial education not just because it came from the West.

Essentially, he disliked its inherent elitism, its irrelevance as far as the needs of India’s rural

masses were concerned. ) | |
For example, it was difficult for him to accept English as the medium of instruction, because

he felt that it has created a permanent bar between the highly educated few and the

uneducated many. ' -
Moreover, with his profound pedagogic sensitivity he could see the damaging effect of colo

education.
He also felt that English made one a stranger in one’s own land.

. v = : ur.
Besides, with this kind of education, one could not appreciate the dignity of manual labo

PRQS
SQPR
PQRS
QRSP -

FDGT-F-ENG (12-A)



. If this is to be of th

. If they ar

: abundant source of samples of English usage.
A corpus 1s an ]

e meaning that has been previously explained, they cannot just he picked
out of the corpus at random.

o function as examples, however, then we need to ask just what it is the
e to fun as exam]

Yy are
intended to be examples of.

les of the language isolated from their natural context of use, will not normally
. Samples ot \

lify word meanings put will simply show one instance of the word’s actual occurrence.
exempity 2

This is because the context will usually make it unnecessary to spell the meaning out.
. This is

S
: i meani f the word that we might want a sample

S6: It is not only the previously explained meaning o ' & e
exemplify, however, but also its collocational tendencies.

(a) QPSR

(b) RPSQ

() PQRS

(d)  SPQR

67. S1: Historians have often explained religious and social reform in India in the nineteenth century

as a result of the Western impact upon the minds of men.

P: With that purpose, we seek to analyze the thoughts and activities of individuals who were both

~ religious reformers and vernacular publicists.

Q: The equation of westernization and modernization has given way to a search for the
indigenous sources of social changes.

R: Recognizing the modernity\ of tradition is one thing however, whereas understanding the
intellectual processes that produced indigenously generated change is another.

S: Others have recognized that this was entirely too simple an explanation for the intellectual
and social changes that took place in India and other places that fell under the foreign colonial
rule.

S6: Each of these vernacular-using reformers derived his arguments from within his own
tradition.
@) QRSP
(b)  RQPS
(c) SQRP
{d) SPRQ
FDGT-F-ENG
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S1. o
L% ﬁ )
’ 1® Countrye )

, - fountry has experienced unprecedent

S6: If the country dr -
! country dreams of a much larger economy today

7

@ QRPS
(b RPQS

P
3
o

e
97

S1 : Degenerative and man-m

P Scholars reiterate that epidemiologi

S6: This transition has led to the rise of living standards

t since the adoptiog -
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: The Indian co-opersative movement it probably one of the largest. SITOREeSt and the oldest in
the warld with widespread spatial coverage, diversified business sctivities and ample success
stories.
P : It has celebrated its Centenary very recently.
Q: It is Structured around the Rochdale Principles and Raiffeisen Model in wake of misenies of
pessantry.
R: It is fermed as the “economic miracie”™ of the last century.
S: Everlsince the officially sponsored Act of 1804, the Movement has passed through a number of
phases.
Co-operatives have been organized in areas like credit marketing. distribution, dairy

development. industry, sugar and so on.
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Q : This transition is the result of rapid increments in urbanization and industrialization.
R: He argued that the disease pattern is shifting from the predominance of infectious
parasitic diseases to chronic and man-made diseases. ‘
S: Omran's epidemiological transition theory. 1871 portrayed & clear picture of the chang®
pattern of diseases prevalent all over the world. ..
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Dim(’tia",s ) e use of the word correct!
one of thh,nmj ffg::r F!;f.:f accordingly. A
response o7 the A } - 76.
71. ﬂi\;};bl e afC;“‘qu;;}T acquitted hecause he
~avided an aube SR _ e |
- %Oe acml&‘efi wai;zguztted because his |
‘ -1+ was not accepE ‘ :
. arf]}i};l ;ccuse? was acquitted because his
1ibi was false” ' 7

" %21 rerused was convicted because he

provided an alibi. -
7 ‘Continuously’ o
- {i?nh?’he waves lapped upon the shores |

continuously- o

(b) q?hne fellows at the academy follow their
exercise routine continuously. ,

(¢) The giant piston at the oil 11g
hammered the ground continuously.

~ (d) The water was flowing from the leaking |
"N tap continuously- |
73. ‘Elicit’ : 78.

(a) The call centre’s operations were found |
to be elicit. ‘

(b) The -elicit - ties between them were |
discovered by chance. ~

() The demand for further information did
not elicit an enthusiastic response.

(d) The elicit reasons stated were found to |
be insufficient.

74. ‘Climactic ' '

(a) The climactic degradations shall lead to 79.
cataclysmic weather change.

(b) The climactic changes in the
environment will impact the entire
world.

(¢) The climactic outcomes of restrained
sustainability are positive.

(d) The climactic changes presaging
environmental disaster are predicted to
unfold soon. ,

75. ‘Affect’ : 80.

(a) The new diet did not seem to have any
affect on her health.

(b) For the new scheme to take affect,
certain conditions have to be met.

(¢) In affect, we are back to where we were
before.

(d)f The changed circumstances seemed to
visibly affect her.
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You are required to select the correct option and mp,p .
Digcrete’
(a) The manager was asked v ma,
discrete enquiries about the new ,a,a,a_%;" ‘
{b) The discrete nt»i;w.gam,,gh'm
headphones are very expensive '
(¢) The discrete series had many
intervening gaps. "
(dy It 1s important to be discrete while
dealing with sensitive material.
It's
(a) It's nature is susceptible to rapid
change.
(b) What js it about it's performance that
has impressed you ?
(0 It's imperative that you study hard for
i success.
(d) What about its value in the
international market ?
‘Amidst’
(@) Amidst them who do you think 18
better ?
(b) There was a lot of confusion amidst his
mind.
(¢) Amidst all the confusion the thief
managed to slink away unnoticed. <
(d) Who amidst you shall be brave enough
to pick up the gauntlet ?
Less’
(a) There are less than fourteen people
. attending the seminar.
(b) Less states are fulfilling the targets set
by the union ministry.
o There is less sugar in the tea than what
I asked for.
(d) There are very less days left before the
examinations begin.
‘Practise’ v
(a) It is common practise to greet friends
during festivals.
(b) It has been the practise of academics to
recomx‘nend students for higher studies.
(¢)  What is the particular practise of your
” ie{gh‘lvours that you are objecting to ?
) en;irzlzzx;gifzm;icnse SRR O K
ce on match day.



FILL IN THE BLANKS

a blank spoce and four words or grou,

(1 DIt . ’ Broup o
word or group ()/ words for the blank Do
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Directi
rections : Each of : i s i
8 : lach of the following sentences in this section has

uv'OrdSa‘) 10y 2 of
e given after the sentence. Select the most appropriatc U

and indicate veisr , !
dicate your response on the Answer Sheet accordingly.

81. He._ waiting for you since morning. | 86. Had he told me t;hf: news beforehang, |
)  Lswe Beon careful and saved my money,
(b)  hasbeen , (a) should have been
(¢ is (b) had been
(d) had been (c) willbe
| (d) would have been #
82. grao'lll‘ierr;e; ;{iiz::would );ou anywhere
’ you go ! 87. He feels that he has been
(a)  may take (a) taken for granted 7
(b)  could take 7 (b) taken as granted
(©)  will take } (¢) taken for ease
(d)  shall take (d) takeninit
83. What you proposeis ____ . 88. He has the touch of a maestro.
(a) on question (a) grating
(b)  in question » (b) strong"7
()  where the question (& silken
(d) out of the question d heavy
84. Thecampaignisin . 89. Heis one of the in the country.
(a) full swing ~ (a)- Well-knownjouma]ists -
(b) full of circles (b) well-known journalist
{¢)  full length : (¢) well-renowned journalists
(d) full mode (d) journalist
85. Life has been thrown due to the | 90. The population of Mumbai and Delhi ¥
weather conditions in the city. greaterthan _____ city in India.
(a) inthe gear (a) all other
(b) outofgear , (b) any other 7
(c) about , (c) any
(d) in spirits ' (d) other
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and ‘Perspicuity’ | 94,

means ability to discern
lucidity of |

a91. Perspicacity
(a) Perspicacity
and Perspicuity means

expression
means  lucidity of

(b) Perspicacity '
and Perspicuity —means

expression

ability to discern

(c) Perspicacity means tenacity and
Perspicuity means lucidity of expression |

(d) Perspicacity means ability to discern
and Perspicuity means tenacity

92. ‘Complaisant’ and ‘Complacent’
(a) Complaisant means overconfident and
Complacent means in the same place

(b) Complaisant means eager to please and
Complacent means overconfident

(¢) Complaisant means eager to please and 95
Complacent means in the same place

(d) Complaisant means overconfident and
Complacent means eager to please

93. ‘Complimeni’ and ‘Complement’

(a) Compliment means to enhance and
Complement means to praise

(b) Compliment means to go well with and
Complement means to praise

(c) , Compliment means to praise and
p
“  Complement means to go well with

(d) Compliment means to enhance and
Complement means to go well with

FDGT-F-ENG (17-A)

ns a pair of similar sounding words is provided. You gre
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Deify’ and ‘Defy’

(a) To deify means to confer upon one tp,
status of God and to defy means to
oppose

(p) To deify means to confer upon one the
status of God and to defy means to deny

(c) To deify means to oppose and to defy
means to confer upon one the status of
God

(d) To deify means to oppose and to defy
means to deny

‘Evoke’ and ‘Invoke’

(a) Evoke means to elicit a response and
Invoke means to provoke

(b) Evoke means to call upon through an
appeal and Invoke means to elicit a
response

‘(c)/ Evoke means to provoke and Invoke
means to call upon through an appeal

(d) Evoke means to elicit a response and

Invoke means to call upon through an
appeal



96.

(d)

98. ‘Reward’ and ‘Award’
(a) '~ Reward is compensation for effort and
" Award is prize for recognition
(b)  Reward is prize for recognition and
Award is compensation for effort
(¢} Reward is prize for recognition and
Award is gift from someone
(d) Reward is gift from someone and Award
is compensation for effort
"DGT-F-ENG (18 -

‘Syfnpat ’
hy” anq Empathy’
(@) gy,

« .f;yn:lpm'hy means  sharing another'’s
('9]'11523 and Empathy means
lmdorstnnding another’s feelings

by §
?ympathy Means expressing another’s
eelings ang Empathy means sharing
another’s feelings

(e) S .
Sympathy means pitying another’s
f‘eelmgs and En‘]pathy means
emphasising another’s feelings

(d) ' ~

) S}’mpathy means emphasising another’s
feelings ang Empathy means pitying
another’s feelings

‘Accept’ and ‘Except’

(a)  Accept means to exclude and Except
means to agree
(b)  Accept means to agree and Except

means to extend

(¢)” Accept means to agree and Except
means to exclude

Accept means to extend and Except
means to agree

. "
s ond ‘Tmmigrate
y vonafe ﬂ"(’
Gl ate
99' |,: .
Rmigrate means to illegally B0 to

(a) ,
another country and Immigrate meang

a

to arrive at another country
0 © ’ )

FEmigrate means to arrive at anothey

country and Immigrate means to leave

b)
®y
for another country

Emigrate means to leave for" another

(c)
country and Immigrate means to
illegally enter a country

(d) Emigrate means to leave for another

country and Immigrate means to arrive

at another country

100. ‘Immolate’ and ‘Emulate’

(a) Immolate means to sacrifice and
Emulate means to follow someone out of
admiration

(b)  Immolate means to burn and Emulate
means to wear ornaments

(c)/ Immolate means to burn and Emulate
means to simulate

: destroy and

(d) Immolate means to destrol

Emulate means to imitate

A)



SPOTTING ERRORS

» has a sentence with three undertined parts labotje
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N
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pirections: Each iteny in this sectio?
' A Jhether thered

Read each sendence fo Sl oul
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evening stroll after five hours of office. No error
= S e ——— sdidisibivii-L Aot

101. It would be nice to have a good il
(c) (d)

{al) ib)

102. Arun likes Geography more than he likes History. No error
= A
(c)? (d)

(a) (b

power too has been made steady progress

(b)

103. While the solar energy has grabbed the spotlight, wind

(a)

e world and in India. No error
nd o na@. - -

across th

{c) (d)
104. Pride brings a great dealing of vanity, an egotistic inflation. No error
{a) P (b) (C) (d)
105. Persuasion happens only when someone takes a stand
(a) (b)
from which he has unwilling to move. No error
(¢), : @
106. The food consumed is converted on the body into glucose. No error
(a) (b} (c) (d)
107. This testing method requires one to fast overnight after which
(a) (b)
the fasting blood sugar level is measured. No error
O (@
108. Multiple research studies have laid emphasis on the importance
(a) (b)
of walking to improved glucose control. No error
(€), (d)
109. This also allows individual writers to play his strengths. No error
(a) (b) ’ (ck (d)
I psa Sae?” writer, there are, br ;);dly speaking, two kind of jobs in the film world. No error
a) ( . '
¢ @
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PARTS OF SPEECH
aS€e un

Indicate

derlined Read the sentences carefyjy
erLives 4

D .
rections: Fucn of Jour response on the Answer Sheet

and fing which par
accordingly.

the following sentences has a word oF phr
t of speech the underlined word belongs 1o

. . of the more beautiful ones in
111. He headed the Indian freedom struggle which |116. The lake is on€ of bl h

Paved the way for non-violent, struggle for the country:

other countries in the 20" century, (a) Adjective
(@) Relative pronoun .~

(b) Adverb
(b)  Adjective

(c) Quantiﬁer ’
(¢)  Interrogative

(d) Noun
(d)  Assertive

117. Honesty is the best policy.
112, W_.llf_’i‘g there is peace for some time, there will @ Countable noun
be prosperity.

(b) Pronoun
(a)  Interrogative

(¢) Common noun

(b)  Adverb :
(d) Uncountable noun #

(¢)  Adjective

(d)  Relative pronoun 118. There is many a slip between the cup and the
lip.

113. Alas ! We have been defeated. (a) Prepositibn

—_— » &

(a)  Adjective (b) Adverb

(b) Connector (¢) Connector

(c) Interjection - (d) Conjunction ,

(d) Interrogative
119. Ravi and Megha reached first, but Guha and

114. A zero is a zero always. Saavi finished third.

(a) Interjection

() Conjunction

(a) Noun .

(b) Compound noun
(¢) Connector
o SR (d) Pronoun
(d) Adjective .

120. He is the most sought after teacher in the

115. May you be blessed with all good things of life. school.
(a) Verb (a)¢ Determiner
(b) Adverb . (b) Adverb
(¢) Noun (c) Adjective
(d) Pronoun (d) Interjection

FDGT-F-ENG (20-A)




AIRMEN CAPF CDS EXAM
(2) (1) (2)

ACC AFCAT
(1) (1)

ExXAbAS
INET OFFICER MNS MOCK TEST NDA EXAM PC(sSL) SCO SSB INTERVIEW
(1) 1) 131 (1} 1) (1) (1)

HIGHEST RATED l -

E17 PEOPLE @NLINE NOW

CDS Exam Online
Course 2021 - 2022
5(80)

¥4,999.00

90 PEOPLE @NLINE NOW

OIR Test and PPDT
Online Course - Officers
Intelligence Rating Test
5(50)
¥2,999.00

BEST SELLER

997 PEOPLE @NLINE NOW

CDS OTA Exam Online
Course 2021 - 2022

5(77)
24,499.00

HEST SELLER

98 PEOPLE @NLINE NOW

MNS Military Nursing

Service Exam Online

Course 2022

- T 14 5(44)
24,999.00

BEST SELLER

sty

206 PEOPLE @NLINE NOW

AFCAT Exam Online
Course 2022
5 (64)
74,999.00

AFCAT EXAM &
MOCK TEST
SERIES

37 PEOPLE @NLINE NOW

AFCAT Exam Online
Mock Test Series
5(65)
¥299.00

561 PEDOPLE @NLINE NOW

NDA Exam Online
Course 2021 - 2022

5(72)
¥4,999.00

BEST SELLER

CDS EXAM
MOCK TEST
SERIES

CDS Exam Online Mock
Test Series

¥299.00

GETITON

740 FEOPLE @NLINE NOW

Territorial Army Exam
Online Course 2021 -
2022
5(53)
¥ 4,999.00

BEST SELLER

NDA EXAM -
MOCK TEST
SERIES

18 PEOPLE @NLINE NOW

NDA Exam Online Mock
Test Series
5(72

2299.00

TERRITORIAL ARMY
(1)

895 PEOPLE @NLINE NOW

ACC Exam Online Course
Army Cadet College
2021-2022

5(53)

¥6,999.00

37 PEOPLE @NLINE NOW

UPSC CAPF Assistant
Commandant Online
Course 2022
5(48)
¥4,999.00
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